NV

BF6 48 A 8 HITEKI L 7= 6 4E L H ) 11 B AL He /K B R BE R il LI 381 T D A DA I H]

WD EAME 721348 CERHEAA—ROBEBICHOW TR TIEAR < 48D [ZoW T, RO HMFRD &
BOAEET D,

Plb, BAGEOREE LTARE 2@2ER L, YHEERTAITRIO L, %8 1@zkE7T 5,

A FN064E08 H 27 H
T T BEEK T EET 6 7 8 Fil
K4 MEXHATARYE
P[] 5 A SR
HEFINIEETTE EBHE

A EAT EEAENT15ELE

K4 Bzttt 34

Bt P &

sz T ED R



NAWA

it

®

THEX Sy« T - B - HH50 B B B B G = A & 3l (GRS
RET
= 1 46, 611, 327
B EERR i BUAE
= 1 46, 611, 327
= 1 40, 207, 387
FREERE (A7) -V &) V=38 EE BN KEHE 4. 6m
K 5. 3m
H 1 31, 961, 854 31, 961, 854
2N Y (KA V) RE AT W IRIEAT VM BB TT)
0. 6m KPR BEATI) Tn
#% 1 8, 245, 533 8, 245, 533
PRAER A (i
= 1 4, 674, 883
ok R A AR 450 1 EAMASE L
i} 1 4, 674, 883 4,674, 883
1 )8 #% A
= 1 936, 040
FREEFESR & A
F1
H 1 416, 088 416, 088
FREEFESR & A
il
H 1 519, 952 519, 952
THuREE T (B
= 1 793,017
THEdk (B H)
FREEREAE & (A 4)
= 1 375, 279
THudk (Reik)
737
= 1 417, 738
SEPR -
= 1 7,401, 274
-1- EhARimEE P ER T




Bl =%

THEX Sy« T - B - HH50 B B B B G = A & H R (GBS
FlR e
= 1 54,012, 601
THE s
= 1 3,611,814
BRI
= 1 57, 624, 415
it L
= 1 6,919, 927
I B 3% g gk 1
= 1 269, 273
[pE
= 1 269, 273
i 2%
= 1 269, 273
B BE R fi Him A+
= 1 6,527, 719
FREERE TR AT T
= 1 3, 502, 509
PEAT (BREERE) V-3 E
= 1 2, 641, 944
2N Y KA VD) PR F RN b
= 1 556, 198
E R
= 1 304, 367
1 )@ A PaAF
= 1 316, 536
fF & 7%
FREEFEZR S (F 1)
= 1 127, 672

-2- [ Amd R




NAWA

it

®

THEX Sy« T - B - HH50 H B B B G = A & 3l R (GBS
fF & 7%
REEMEZE S (2
= 1 102, 136
E R
= 1 86, 728
RS ZE T (B R 0D
= 1 2,708, 674
H 1 1, 735, 593 1, 735, 593
BER KL b 2 YR
H 1 328, 760 328, 760
o J& R f i
= 1 197, 781
IR ik B R A AR 5 A A A 25
i} 1 22,996 22, 996
E R
= 1 423, 544
% T
= 1 122,935
B AR B T
= 1 122,935
KA LD 5 RAKEDHEI Y
= 1 71, 500
FA Sy
m3 9 1,589 14, 301
A
m3 9 1,883 16, 947
IR NOEY I ¢
5 9 2,243 20, 187
-3- EhARimEE P ER T




Bl =%

THEX Sy« T - B - HH50 B FTRBAL % B G = A & H R (GBS
B ST
= 1 1,091,117
HimEpE (FE L)
= 1 1,091,117
g
= 1 8,011, 044
BTk Xegiiv oy
= 1 1, 886, 782
et s
= 1 5, 120, 866
Pa A TR
= 1 15, 018, 692
BEEsAE-¢
= 1 1, 394, 050
R 5]
= 1 74, 037, 157
— R PR
= 1 13,962, 843
T HAlik
= 1 88, 000, 000
THE B 2 %8
= 1 8, 800, 000
TG
= 1 96, 800, 000

-4 - [ Amd R




